Eoab SN = 1Y/
THEEERTER (401)
THE4 | R7ELE #EIEESE GE/ X)) ¥ - &)1 PR T FER Sy W2 i
TR X5y 2R -
TEX Sy « TfE - FEY - 4051 JRKE BT g (FilEl) HE (5E) R T
2R -
Y 1
PlERE T
Y 1
AT HERE T
SEE kT

= 1

VAR 27— MEAE : 18-8-40 (&%), (BBorN)

W/C=<60%

m3 29

A UM OFERE : — T
m2 54

BN SEMFTBIE ML - £%:SD345 D16~25
t 0.03

HilfL by N2 il eg=pall
(EBR 44

H Hit H Hp O FEEE VR E ' H Hidk =10
m2 5

s LAty L

AR
Hhm2 50

Fot vy
m2 24

BEAKHEEY) T

=V 1
- TS I




T

TH4 | R7¥#HL &EsmEE GE/ X)) - &)1 Bt T% FEXy A
THERXS SR -
TFX gy « TRE - FER - FmB1 FS <X{va e (iffED) & (4mE) B R
= 1
739777 =M%
SUS, HEAF=CILIE ¢ 200
(EBR 1
SR E T
= 1
FEIA - TR
= 1
D E R
Lk
m3 70
FEIA (b=27) B E B, EENA £850,0
PaY 00m3 A it
m3 70
TEMRALER T
= 1
HOE FRAER 2y ) -k ()
m3 0.
TRy FRAER 2y ) -k (HEFT)
m3 0.
IE% T
= 1
THHERK T
= 1
_ 2 — %l:m%/a\




=g 2 N = I/
_L‘:jégtgﬁd‘ﬁ

<

ffz¢ (K01)

TH4 | R7¥#HL &EsmEE GE/ X)) - &)1 Bt T% FER Sy W2 i
TR X5y SR -
TEX Sy « TfE - FEY - 4051 FS BT e (FimE) & (4mE) B T
Iz
I
m3 790
£ - fHA
m3 790
+o5 KB+ 5 B Tttt = H
2=
o 401
+o)
2=
Ea 22
5% i
m3 1, 190
by Ly
m3 1,190
FEA - A
m3 160
B AR IS 22 X 1, 524 X 3, 048 (mm) , {E
Ry RRE R
m2 46
BT 7 1EW
t 0.9
W& 7 WLy
m3 3
RIEEE T
=V 1
_ g TS I




Ry

=,
Hj

N
D

o2

ffz¢ (K01)

TH4 | R7ES @I GE/ ) - &I Pt TF FHENX Sy g
THXSy LBy -
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e
A2 R A B
AR 20
B LHEE
= 1
IR
= 1
B
= 1
R
= 1
A 2
t 8
HE ik (G L)
= 1
ol T
= 1
Bl
= 1
T A5l
= 1
e A 5
= 1
_y - e U




o2

THHERIER (A01)

TH4 | R7ES @I GE/ ) - &I Pt TF HEX )4 0
THEXy LBy -
THX Sy - AR - R - A Bikk HLAZ Gl e (4E) KR e

Tt

= 1
TR K Ol 5 1 B A

= 1
TG

= 1

=
N
Jjm



